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5.

10.

11.

12,

Each question is followed by 4 answer choices. Of these, you have to select one correct answer and
mark it on the Answer Sheet by darkening the appropriate circle for the question. If more than one
circle is darkened, the answer will not be valued at all. Use Blue or Black Ball point pen to make
heavy black marks to fill the circle completely. Make no other stray marks. Use of whitener is
prohibited. If used, it will lead to invalidation.

08 PEBD TeorD DErERSENe FFRESD. BoEd SECID B IIFM BaETED JEBSSt DEH
Bero00sBS HESVLH IYP HF VDSBS, 25 TS, DS HES0OD VDI, e BareesED
58BDODDEE. HBIVW JYrP FYP WY VYLD 2p/epE erd w0 1, PEIBH. BISIED)
rogen DETD. JEIE Toeoe) VRPOSEROPD. TPESS? FIFES DEE0 HOBO0DE.

e.g. : If the answer for Question No. 1 is Answer choice (2), it should be marked as follows :
SR (8, G305, [550008) 1 8 waran (2) €005, R 82 80D DGO MHYOSSSH :

110 0[®|®

For each wrong answer 1/3™ of the marks prescribed for the question would be reduced.
B S3ptho wTentd TS HrDodD Hrth,of 1/3 Nrth, e Shosatiarc.

Use Blue or Black Ball Point Pen only, failing which your Answer Sheet will be invalidated. Gel
pens/pencils are not allowed. It is not required to darken the second copy separately.
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Please get the signature of the Invigilator affixed in the space provided in the Answer Sheet. An
Answer Sheet without the signature of the Invigilator is liable for invalidation.
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DO NOT fold, tear, wrinkle, tie, staple, do any rough work or make any stray markb on the OMR
Answer Sheet, otherwise your Answer Sheet will be invalidated. ;
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Using the Whitener/Blade/Eraser or any kind of tampering to change the answers on OMR Answer
Sheet will lead to invalidation.
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Do not mark answer choices on the Test Booklet. Violation of this will be viewed seriously.
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Before leaving the examination hall, the candidate should hand over the original OMR Answer Sheet
(top sheet) to the Invigilator and carry the bottom sheet (duplicate) for his/her record.
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13.

14.

15.

16.

Programming Calculators, Mathematical/Log Tables, Mobile Phoneg, Blue Tooth instruments or any
other Electronic Devices will not be allowed into the Examination Hall.

RreooR 55805, nBs/erf Send, AnBS, ar &S Dosed MO S DE0B0E o6
DOBES0OR HEY D0SIVE e95080B0SED.

Candidates should stay in the Examination Hall till expiry of Full Time i.e. 2-;- Hours. No candidate

shall be allowed to leave the Ha]l in the middle of the examination under any circumstances.
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b S8 wgymen 08y ry edy Sow (2 : roten) @oEsd8m. 65 SoFEd o8 DedEe

2000005 DOBDRIGEDD.

If any candidate éttempts to use any means to cheat/copy etc., he/she is liable for prosecution and
debarment.
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18 9)B0.

Rough work may be done on the last page of the Questmn Booklet only. It should not be done
anywhere else.
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L

In which landmark judgment delivered in
2016, did the Supreme Court issue guidelines
on drought management to the Government of
India ?

(1) Swaraj Abhiyan Vs Union of India

(2) PUCL Vs Union of India

(3)  Common Cause Vs Union of India

(4) Mahipal Singh Rana Vs State of UP

Out of the following, which is not a power
granted to Rajya Sabha ?

(1)  Authorizing Parliament in the national
interest to make a law on a matter in
the State List

(2) Authorizing State Assemblies in the
national interest to make
matters in the Union List

law on

(3) To return a
recommendations

Money Bill with

(4) Authorizing Parliament in the national
interest to make a law for creation of an
All India Service

Which of the following could be one of the
reasons for pruning of development targets of
the second five year plan ?

(1) Non-availability of foreign collaborators
to set up heavy industries

(2)  Deflationary situation in the economy
(3)  Acute shortage of foreign exchange

(4) Failure of bureaucracy to implement
developmental schemes '

(4)

30

(1) U‘%
| IOR  HAATFRSO

2016 & @DNS D WOTHEE BENS
Ao §§ 6 VT MHOeD erde

DWEDE  ArGESYS RrEo

2POBVO 7

(1) ‘(050“5 eodoirs Vs ros
HESED

(2) PUCL Vs 23ded QE;SJ&S&QIJ
(8) BP0 5°& Vs 200eh DFLSA

(@) IS ob TEr Vs asd 0A%

U"‘?go
208 TS TRy DY O G wdsdo
07
Do &' w8 wodo D
%0 égo
[ODErAS  FGotS D wHsTo
raésc‘io

2) 2rdod HABrade Eo Sog rdae
S°D w8 wo¥o P o BaDEEDS
D"g 9R008) L wAS°Go EENA

(3) oé‘dsaog GOy Dgosd Ay
200060

(4) 2A0H DArade o w8 wde
o8 DO doryen BD ko
DoDEEAS PGS & whstdo
faésdo

306 TS’ DB Botkd DoSIY VIFVE

VDY VIR DHODH TOFOS

288 ONEDOLDBIN ?

(1) &8 DO JVENEIS DB
e S6d

(2) €08 S0Y & 0 @S 28

(8) DB 208 Goowe’ 8P Sew
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4.

Out of the options below, what was the issue
of emphasis in the sixth five year plan put
forward for 1978 — 83 by the Government of
the Janata Party ?

(1) Employment
(2) Industrialization
(3)  Growth with stability

(4)  Sectoral allocation

From which five year plan was the system of
setting  “monitorable targets” for key
indicators of development introduced ?

(1) Eighth Plan
(2) Ninth Plan
(3) Tenth Plan
(4)  Eleventh Plan

Which organization is entrusted with the
initiative of converting 100% Government —
Citizen transactions to the digital platform ?

(1) National Informaties Centre

{2} Ministry of Electronics and Information
Technology

(3) NITI Aayog
(4) National Payment Corporation of India

Which of the following is not one of the
subjects on which a sub group of chief
ministers is constituted by NITI Aayog as part
of Cooperative Federalism ?

(1) Centrally sponsored schemes
(2)  Skill development

(3) Swachh Bharat

(4) Digital payments

(6)

1978 - 83 5208 SODYD D JoIIY
OrPseS” D oS adee Fr VELB
008 FErHS ADN0O ?

(1) &>d Suyd

2)  JOFTASEGR

(3) ?86&‘3503 &G 90

(4) Gorre o8 ranoiyen

D DowdY VEFDS od DG ANy,
dog wrdge Eoo  “DoDdiode
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8.

10.

The debate between Bhagawati and Sen on
the economic policy of India revolves on

(1)  Industry versus Agriculture

Growth first
Investment in Social Infrastructure first

(2) Economic Versus

(3)  Rural versus Urban

(4) Private
Investment

Investment versus Public

The most important reason for higher absolute
increase in population in India
compared to rural population in the decade
from 2001 to 2011 could be due to

urban

(1) migration from rural to urban areas

(2)  higher death rate in rural areas due to
lesser access to medical facilities

(3)  better methods of birth control in rural
areas

(4) categorization of erstwhile rural areas
as urban areas

As per census 2011, between 2001 and 2011

(1) farmers increased and farm labourers
decreased

(2) farmers increased and farm labourers
increased

(3) farmers decreased and farm labourers
decreased

(4) farmers decreased and farm labourers
increased

(6)

9.

10.

BA0S, 1S © WGj S edE grdo
2 FOHD 56y D Moo P SohgB2008 ?

(1) DBZBver G HrOIJaddr

(2) 388 )8 dworr? T8 Jdras
SFOE Horairey se.)bms““
b%.ama(;‘. Sote 7

(3) pravrer? g% droeer ?
(4) 0D dDeperr? I8 S5 dewers?
= ] m 0

2001 - 2011 &7goeS" &rsd & T
aTrd” 5B Sl 16 arerd’ 58
ROFPFOEJVMT JEN DT GokmrDS (fo
B0 S°0E0 DRV GocaIiy ?

(1) [P ooTPe AI0d DT L
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Desg desodrosren G Do HY

PV roTrerS® Susere B
DQ)ZTDI'T“ &oCiCio '

(3) P Sromrees” reoe
~RODOGEIL) ATD :Jgamw
&odiio

(4) QOB B PO SroTrPenTT
Og) DD TO WY BN
rogrenr H8edod o

(2)

2011 a5y O e gsto 2001-2011

0G SN

(1) Beoew DO, Sedredh &rded
é‘l’g‘d.) ;
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11.

12.

13.

As per the statistics of the National Crime
Records Bureau (ADSI 2015), the biggest
reason for suicide of farmers in India is

(1) family and social problems
(2)  bankruptey or indebtedness
(3) farming related issues

(4) illness, drug abuse and alcohol addiction

Which of the following is not a component of
Pradhan Mantri Krishi Sinchayee Yojana
(PMKSY) ?

(1)  Accelerated Irrigation
Programme (AIBP)

(2) Har Khet ko Pani (HKKP)
(8) Per Drop, More Crop

(4) National Water Grid

The MOU to be signed by the Bay of Bengal
Initiative for Multi-Sectoral Technical and
Economic Cooperation (BIMSTEC) (approved
by Union Cabinet in April, 2017) is on
cooperation in

(1) Oil & Petroleum sector

(2) Information Technology sector

(3) Tsunami warning system

(4) Power sector

Benefits | .

(7)

11'

12,

13.

0S8 Ei':s"éD a8 (ADSI 2015)
ferosPe QS 68 & Beow
e8] TP P S°E0?

(1) €00, TS SISV

@) 6TV St ePyS
ErEH DA

(3) .:'.35&'3.3‘05) oo DQoITTe

(4) B, ghy oragiw,
.;5.)6653‘&‘:0

$o6 DS’ DO VEPd od JydIvaD
AAFEOGY  DEEo  (PMKSY)  So&d
oeedd ?

(1) 80 DBFduL Harad
seg{Eav0 (AIBP)

@ 6 58 §° 35 (r588D)
3) D6 O rd B0
4) >80 DO A&

LOTPYeYPe BT DGy eTvdort
Fo8BE, ©QE DITEY RVNIDHOD
(BIMSTEC) (Sogy 8D¢5 D25, 2017 &°
BArE0N0A) Sod Dosssren BodeS ad
2NOBHW, & Oorfod® RT3
2DooHoHA
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(2)  RAFTG auoéasmgva Sotto
(3) RO 53080 By
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14.

15.

16.

(8)

Which of the following is a demand side|14, 808 e, S0 DIBED UDAY

intervention in the UDAY (Ujjwal DISCOM
Assurance Yojana) Scheme of the Central
Government ?

(1) Coal swapping
(2)  Availability of cheaper funds
(3)  Usage of energy efficient LED bulbs

(4)  Reduction in transmission loss

With regard to funding of the Polavaram
Project, the Centre would provide

(1)  100% of the cost of the irrigation
component for the period starting from
01/04/2014 to the extent of the cost as on
that date

(2)  100% of the cost of the irrigation
component as incurred

(3)  100% of the cost of the irrigation
component as per value decided by the
Centre

(4)  100% of the cost of the full project for
the period starting from 01/04/2014 to
the extent of the cost as on that date

The coach with glass roof and other facilities

in the Visakhapatnam — Araku Train is|16-

known- as
(1) Glassdome coach
(2)  Multidome coach

(3)  Lightdome coach

(4)  Vistadome coach

15.

(eases DISCOM 29;:1.)“5653 DGSo) Sods
a:oega ?65:1.1)095‘, O  AArol
(VA1) ) Doerocs ey ?

(1) ESDQJ &‘.IJ‘OD&

(2)  GOFD e ocereares
&Gotitio

(3) ejéoba .Dm5e5 wa’)rodmoio?g LED
aoe.uav IS0

@ deogd DS .:5%:0& Bhodcio

DPewddo 8§ S0 Jeoew EEVEUEN

JAODAS’, Fogo & Deken.

REFDV0H

1) 01/04/2014 38 DFanoDd a8
S DOBJS arizy 50002
QD ILFEBTE, 100 Toto TEH
503050

2) 100 T PB§ o B SN

(3) Sogsw QGooLD Dewd
LIV 100 TS0 FBE S0
BD a,)ﬁ.)a

(4)  01/04/2014 B DGa0DD
QS @nag SO Dewd
ITPEANTR, 100 Foeho évago
b}go‘.ﬁ&n
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(1) RO EDES
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17.

18.

19.

Which institute is the academic mentor for the
Indian Institute of Petroleum and Energy
(ITPE), Visakhapatnam ?

(1) Petroleum Conservation and Research
Agency, Delhi

(2)  Indian Institute of Science, Bengaluru
(3) Indian Institute of Petroleum, Dehradun

(4) Indian Institute of
Kharagpur

Technology,

Which of the following parameters had the

highest weightage for calculating tax
devolution from Centre to States as per the
recommendations of the 14™ Finance

Commission ?

(1)  Population

(2) Area

(3) Income distance

(4)  Demographic change

Which year is taken as the basis for resources
for making recommendations by the 14
Finance Commission ?

(1) 2012-13
(2) 2014-15
(3) 2015-16

(4) No base year

(9)

17. dwpdyo &' rddab "ot

18.

19,

Sodosw 3S R0 (IIPE) £ oy Dot
DO Do (academic) ;ﬁrgd%ém
3N (20edd) 20D A0 ?

(1) DEDobo E0EDS ol 66y
Dﬁba, d@

(2) RoEODS AIPLGES eDdD 2Dy,
Bo%rdd

(3) @OGODO RIREGES 18]
DD, BETErS

4) QoAoDD 'ai)?gé.mvgﬁ (23 ﬁs‘nvé,
066 b

140 €988 Doz DTN Ps*Go Sogo
ol TFUDH DAY DogBori
Tg) S &HATA0S 206
BB VLS’ (Svagod’) 6 ©d
QL) S FTRS S0 ?

(1) 23T
2 D3do
7]
(3) esgrad ;::5!3"5{00 (cd00
4) 2reres’ 060y
S0 ?o@*da;)w B[O 14D e8¢

Moo 2 RodBNe Y DHDR HRHDH
esgPSore ?.355&0&0& ?

(1) 2012-13
(2) 2014-15
(3) 2015-16

4) D esprd SERTL NI g
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20.

21.

22,

Which of the following is one of the factors not
considered by the 14" Finance Commission in
vertical devolution of resources ?

(1)  Spirit of the Constitutional provisions

(2) Concerns of States and Centre on fiscal
space

(3) Differential levels in aspirations and
expectations of the population of various
States

(4). Need for clarity on functional and

expenditure responsibilities of States
and Centre in the intqrest of sound
federal fiscal relations

Compositional shift from grants to tax
devolution from Centre to State causes

(1) additional fiscal burden on the Centre

(2) increase in share of unconditional
transfers to States

(3) demand from States to increase tax
rates

(4) lack of fiscal space to carry out specific
purpose transfer to States

The relationship in India  between

redistributive resource transfers from the
Centre to States economic
outeomes like per capita consumption, growth
in GDP, tax revenue effort is

and various

(1)  not determinable
f2 ) positive

(3) -neutral

(4) negative

(10)

20.

21.

22,

. resource transfer)

$0& IS’ D ©owR) 14 €288 oo

SO vow  Doge T oS’
DOrIosT e
(1)

veafolf o maan
598 Drweverew (83 £g 006) »
éog oo e.ae‘,’)@vovvm

(2}

(3) DG m&nv Due  @ddorw,
st ge S DB Frowod

@) obabodd  Dary; 83
RoWOLFL GyaF, OO PGS

A8k DA Z)ds::wea eanszge:se:e?
Sog, TpdvO dwg JFY D
NS o'ji:’sb ZELICLEN

Sogdw Aol TFRL  Dogod
DO e .osdy.a DODGD
(compositional shift) e

(1) Sodo P GIY S ardo
P Tat Tr b TeTn)

2 TroH  Sads wedu o
953(13&)0&

3) D) B Domred cvaveaa':ood'
G0l Db

4) TP JFod pArad wad
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QDRVRLIED €0

268 & Bogo b IO a6y
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550.'333) DoG 1) DoeIOEIHD ?
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(2 dsTTd) So (eoo8re)
(3) S0
@
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23.

24,

25.

26.

Muga silk is a product of the silkworm
endemic to which State of India ?

(1) Karnataka
(2) Tamil Nadu

(3) Assam
(4) Manipur
As per the rationalization of Centrally

Sponsored Schemes by the Government of
India, “core of the core” schemes are

(1) Social protection and Social inclusion
schemes

(2) Schemes which are part of National
Agenda

(3) Infrastructure schemes
(4) Digital India schemes

What is the meaning of competitive
sub-federalism in the context of achieving
targets on social and developmental goals ?

(1) States competing against each other
(2) Centre competing with States
(3) States competing with Local Bodies

(4) Local Bodiés competing with Local
Bodies

Which of the following programmes of the

Government of India does not provide

opportunity for urban rejuvenation ?
(1) AMRUT

(2)  Rurban Mission

(3) HRIDAY

(4) Swachh Bharat Mission

(11)

23.

24.

25.

26.

B D), 2768 S D TR .g"boi)
DEOEDEND GyD ? -

(L sg»e:s

(2) BY I

3) Oy

(4) 36

OS PIS|  PArRS  DESO
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(1) ArRE GLe 000D Jdres
"«o&’b&@é DEIsren
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() oogren a8 A8 T 'Y
HE0
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(3) mgw 8 voped IS diwo
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(1) AMRUT

(2) d:»csaé AR

(3) HRIDAY
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27- ;

30,

A recent radical idea to overcome the problem
of poor targeting and misallocation of social
welfare schemes is that of

(1)  Universal Basic Income
(2)  Direct Beneficiary Transfer
(3)  Direct allocation of funds to Local Bodies

(4)  Privatization of all subsidy schemes

What is the all India - participation rate of
Women in MNREGA (Mahatma Gandhi
National Rural Employment Guarantee
Agency) Scheme in 2016 — 17 ?

(1) 36%
(2)  46%
(3) 56%
(4) 66%

The Inter State Council was established on
the recommendations of

(1) Venkatachaliah Commission
(2)
(3)

Sarkaria Commission
M.M. Punchhi-Commission

(4)  Rajamannar Commission

“Cooperative Federalism” in Centre — State
relations is recommended for the first time by

(1)  Sarkaria Commission

(2)  Rajamannar Commisson

(3)  Venkatachaliah Commission
(4)  M.M. Punchhi Commission

(12)

27. JIr2E DB DS et

28.

29.

30‘

Sy Serawodpen, RES T Jo
RDADO  OOHDOSEDE adse
©8)0DD DOSVS & €955 D& ?

(1) EAE FEE esrrotraw

@ o ThoH pIE wad

(8) D PoRUH  dLr  Agoe
P00

(4) g"avaaos DDFADE DT &
LonoeEse

201617 ¢° DT ™od  rdab
TR X0 D DHrsEswnes?
(MNREGA) 2108 weane® @uiree
AT Bew Tdo Jods ?

(1) 36%
(2) 46%
(3) 56%
4) 66%
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31.

32,

33.

Out of the following, which is a
recommendation of the M.M.Punchhi
Commission on the institution of Governor ?

(1) Provision for impeachment of the
Governor may be introduced by the
State Legislature

(2) The system

abolished

of Governor may be

(83) Consent of Chief Minister of a State
shall be necessary before appointing

Governor of the State

(4) Governors should be periodically rotated

between States

Which of the following is a principle followed
by the farmers who are participants to the
APFAMGS (Andhra Pradesh  Farmer
Managed Groundwater Systems) Project ?

(1) Sanctions are levied on violators

(2) Rules are set by users and not by
outsiders

(3)
4)

Formal dispute resolution is available

Fixed rules which are not amenable to
change are made

What was the immediate cause for loss of
foreign reserves triggering the financial crisis
in 19917

(1
(2)
3)

Political instability and uncertainty
Increase in non oil imports

Sharp rise in value of imports of oil &
petroleum products

(4) Stoppage of rupee trade by the Soviet
Bloc

(13)

31.

32,

33.
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34. Which move helped to tide over the balance of 84. 1991 0STEPRADL  HAPW  Sudain
payment crisis in 1991 ? ﬁ@OQ‘)U snguﬁ“ HeTeID ‘{oo_%fa;‘.:)l
(1)  Sale of gold in international markets QADOBOEIL GDEFHDED ‘7"55 ?

(1) eodgrdos &0°g) 8" worrto
) So

(2) eorrd .‘\')0505&3 a:cb:meg
@odgraak G5) A W0l BV

(2)  Emergency loan from IMF by pledging
gold reserves

(3) Emergency loan from World Bank

(4)  Quick  realization of expatriate IBLDVG 220030
Pymante | ' (3) (P50 ergos ol SOV 22060
' @) 2T oSobow Mod Dy
35. Which of the following sectors was not much BQO‘Q)ED é,sdm f.l".;.‘).p&
affected by the reforms after 1991 ? B DS
(1) Civil Aviation 35. 8ol S’ 1991 SOTS Kok CrL DY
) Banking QL) ST Perdedo S Gotfo DO ?

1) 8 DArSIrS0
(2) aa"soéoﬁ
(3) eaé)sam‘g:)éfq.%b

(3) Telecommunications

(4)  Railways

4 BScen
36. What could be the main reason for jobless

growth in the reform period after 1991 ? 86. 1991 SIS 'ood“)bdmu SPoB0S

&GP Jarch Q8 HE°D s°Gee0?

(1) Reforms were mainly confined to the
Y (1) 006 ANPEBT oS

GorrS B8 HDOABLALTION

(2 DABODAOAIT0S’ WA Fesho
&85re’ Godicio Hu Sgrr

formal sector

(2)  Majority of the labour force was already

employed and hence there was no need

Rt e &8(re w3060 FEanosd
(3) The informal sector opposed the (3)  e9Ro Botto '{.oo‘{gbdgge)m
reforms and new industries could not be é5e33§oédo do 5 D830
dpetind FDHD e e
(4)  People were not willing to do menial| (4 gesew eSS o egmen

jobs Sabed8 ApHEdc
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37.

38.

39.

Under the new Central GST Bill, 2017, the
mechanism to monitor and ensure that any
reduction in tax rate should result in a
commensurate reduction in the price of goods
or services is known as '

(1) Anti-evasion measure

(2)  Price reduction measure

(3) Anti-profiteering measure
(4) Price neutralization measure

Undér the scheme of new GST Bills, 2017,
subject to a ceiling fixed under GST Act, the
changes in GST rates can normally be effected

by

(1) Government through notification

(2) Government with prior approval of
President

(3) Parliament through an ordinary Bill

(4) Parliament through Constitutional
Amendment

Under the GST (Compensation to States) Bill,
2017, the wunutilized money in the GST
Compensation Fund at the end of five years
would be

(1) Distributed amongst States as per the
formula prescribed by. the Finance

Commission for devolution of taxes

(2) Shared equally between the Centre and
States with apportionment amongst the
States on the basis of SGST collection in

the last year of transition
(3)
(4)

Fully retained by the Centre

Shared equally between the Centre and
States with apportionment amongst the
States on the basis of the formula
prescribed by the Finance Commission
for devolution of taxes

(156)

37.

38.

39.
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G Sogo ETRE S0
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40.’

41.

(2)  B. Sai Praneeth
(3)  Parupalli Kashyap
(4) B. Sumeeth Reddy

Out of the options below, the most important
disadvantage of a multiple tax rate structure
is

(1) Difficulty in remembering rates for
different items

(2)  Cross subsidization améngst the taxes
on different items

(3) Misclassification of goods and services

(4)  Difficulty in arriving at a tax rate for an

item

Out of the options below, who was awarded
the Pulitzer Prize in 2017 for Explanatory

Journalism ?

(1) The New York Times

(2) The Washington Post

(3) WikiLeaks

(4) International Consortium of

Investigative Journalists (IC1J)

Who is the winner of the recently held
Superseries Singapore Open Badminton title
in the Men’s Singles category ?

(1) Kidambi Srikant

As stated in the Economic Survey 2016 — 17,
what is the potential consequence experienced
by a majority of women in a household not
having toilets ?

(1) Reducing food intake

(2)  Reducing water intake

(3)  Travelling long distance for toilet facility |
(4) Sexual assault

(16)

40.

41.
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44. In the case of PDS schemes, which would be | 44,
the probable relation between coverage and

leakage ?
(1) The lower the coverage, the higher the
leakage
(2) The lower the coverage, the lower the
leakage
(3) The higher the coverage, the higher the
leakage
(4) There is no relation between coverage
and leakage
45.
45. Which one of the following is the most
effective financial inclusion programme ?
(1) Demonetization
(2) Aaadhar
(3) Pradhan Mantri Fasal Bima Yojana
(4) Jan Dhan Yojana 486.
468. A large gap in the collection of property tax

vis-a-vis the potential tax of Bengaluru city as
shown in the Economic Survey for 2016 — 17 is
estimated from

(1) Data gathered in household survey

(2) Satellite imagery

(3) Fall in the number of existing taxpayers

(4) Increase in the number of building

permissions

Dar oD HPDY T, DETOS
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417.

49.

As per the Manual for Drought Management,
2016 published by the Union Ministry of
Agriculture, an area which is classified as
“chronically drought prone” receives mean
annual rainfall which is less than

(1) 450 mm
(2) 500 mm
(3) 750 mm
(4) 900 mm

Which of the following is nof a parameter
used by the The Crop Weather Watch Group
constituted by Government of India to monitor
the drought situation in the country ?

(1)  Meteorological parameters
(2) Hydrological parameters
(3)  Agricultural parameters
(4) Geological parameters

What is the cause of earthquakes in the region
from the Himalayas to the Arakan Yoma ?

(1) Collision of Pacific Plate and Indian
Plate

(2) Collision of Indian Plate and Tibetan
Plate

(3) Collision of Eurasian Plate and Indian
Plate

(4) Constructioﬁ of dams on the Ganga and
Brahmaputra

(18)

47.

48,

49,

So@ S{HIAD WoBB TPH YLVBoDD
S0 DoErm SOADE  (Araogsd),
2016 DS°Co0  othEold S D Q8
SgFrdo ol a8 PETI) “Ggsds
862 Frodo” TP HOBAIWD ?

(1) 450 Do.&.
(2) 500 Q..
3) 750 ..
4) 900 ..
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50.

51.

52.

(19)

Out of the events given below, which is the
most important cause of Tsunami ?

(1)  Fault movement on the sea floor

(2)  Underwater landslide
(3)  Underwater volcanic explosions
(4)  Underwater mining explosions

Match the following traditional water
harvesting systems with the region in which
thev are followed :

A. Zing L. Tamil Nadu

B. Zabo II. Rajasthan

C. Johads L Ladakh

D. Phad IV. Maharashtra

E. Yeri V. Nagaland

A B C D E

iy 4 I I Iv: v

(2) V I v 1 111

3 m v v 1o 1

4 I v oI IV I

Out of the items given below, what is|

Korambu ?

(1)

Temporary wall of brushwood, grass and

mud laid across channels to raise the

level of water in use in Kerala

(2)

A runoff farming and groundwater

recharging system of Rajasthan

3)
(4)

A traditional step well of Tamil Nadu

A system of channels built to intercept

and collect rainwater in Nagaland

50.

51.

52.
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53. Which of the following is a traditional method 53.

of conservation of tree cover across

communities in India ?

(1)  Van Mahostav

(2)  Sacred groves

(3)  Growing plantations

(4)  Adopt a tree per home

54.

55.

56.

57,

In ecosystem terminology, who are the major
producers in a terrestrial ecosystem ?

(1)  Human beings

(2) Phytoplankton
(3) Herbaceous and woody plants
(4)  All the given options

Out of the below mentioned persons, who was
appointed as Messenger of Peace by the UNO
in April, 2017 ?

(1) Scott Kelly

(2) Jane Goodall

(3)  Leonardo DiCaprio

(4) Malala Yousafzai

For the purpose of reducing wind forces on the
roof during a cyclone, the best roof

architecture of a building, out of the options
below is

(1) Gable ended roof

(2) . Hip roof

(3)  Pyramidal roof

(4) Flat roof

What is the objective of the Appiko

movement ?

(1) To construct check dams to conserve
water

(2)  To construct steel bridges in rural areas

(3) To fight agaiﬁst corporate farming

(4)  To protect forests

55.

56.

57,
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58.

59.

61.

62.

For which area was H.R.H. Princess Maha
Chakri Sirindhorn Padma
Bhushan ?

(1)
(2)
(3)
(4)

awarded the

Dance
Literature & Education
Social Service

International Relations

Ganjam Venkatasubbaiah, who was awarded
the Padma Shri is known for his work as a/an

(1)
(2)
(3)
(4)

Lexicographer
Social reformer
Musician

Civil servant

How many persons were awarded the Padma
Shri in 2017 in the Sports category ?

(1 6
2 7
(3) 8
4 9

How many national missions have been
started as part of the National Action Plan on
Climate Change ?

1 7
2 8
@) 9
(4) 10

What is the capacity of solar -power sought to
be installed in India by 2022 under the
Jawaharlal Nehru National Solar Mission ?

(1) 10 Gigawatt
(2) 50 Gigawatt
(3) 100 Gigawatt
(4) 1000 Gigawatt

(21)

58.

59.

60.

61.

62.
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(22)
63. Which number does one have to call in Andhra 63.
Pradesh to utilize the services of Talli Bidda
Express ?
(1) 108
(2) 106
(3) 104
(4) 102
64. What is the objective of the “Badikosta”|64.
scheme started by the Government of Andhra
Pradesh ?
(1) To minimize dropout rate of girl
' students from high school
(2) To promote bicycle as a mode of
environmentally-friendly transport for
students
(3) To provide bicycles at low cost to girl
students
(4) To provide incentive to teachers for
getting girl students enrolled in school
. 65‘
65. As per the expectations of ISRO, which rocket
would be a “game changer” in the operations
of ISRO ?
(1) GSLV-Mk-II - D2
(2) GSLV-Mk-III- D1
(3)  GSLV-Mk-IV -D1
(4)  GSLV-Mk-III - D2
66.

66.

National Science Day is celebrated in India on
2gth February to mark the

(1)
(2)
(3)

Discovery of life in plants by J.C. Bose
Launch of the Aryabhatta satellite
Commissioning for first nuclear reactor
“Apsara”

(4)  Discovery of “Raman Effect” by C.V.

Raman -

(2)

[A]

wog DA% S 3P D I8y BO Do
EOATALE IS D Hoed O TS
Sasrd ?
(1) 108
(2) 106
(3) 104
(4) 102

ol DA% QFLB0
“WESY” Do vEfo JE
(1) &S Féwoud’, Sy Srdd
dso  Dopgd SEU gw:mé
SRHY B A

g’ 2865 s
TS rotscio oo DTG
VETY Se & P yroscio
ErDSVLH B D GOL PV @B o
wdsodn AMens’ B8y
R (e NS FToeyorsren QB0

F60DoDD

(2)

(3)
(4)

PGS wodds HOT ST RoR) ), Wsol
95°o 9 TES, op  woEerdrod’
“ORRNOLROR " BX000

(1) GSLV-Mk-II - D2

(2) GSLV-Mk-III - D1

(3) GSLV-Mk-IV - D1

(4)  GSLV-Mk-ITI — D2
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67.

69.

70.

Out of the options below, which types of
activities are taken up under the Neeru
Chettu programme by Government of AP ?

(1) Tree plantation in government buildings

(2) Desiltation of minor irrigation tanks and
channels

(3) Development of parks and community
groves

(4) Vana Mahotsav

After reorganization of Andhra Pradesh,
which of the following organizations is
established to act as a catalyst to facilitate

economic growth and investment in Andhra
Pradesh ?

(1) AP Economic Development Board
(2) AP Invest

(3) AP First

(4) AP Infrastructure Corporation

Whaf is the target ratio set by SDG for
reduction in poverty level by 2030 ?

(1)  Poverty ratio to be below 10%
(2)  Poverty ratio to be below 5%
(3) Poverty ratio to be below 12%

(4) There should be no poverty in any form

Who discovered the TB Bacillus ?
(1) Edward Jenner

(2)  Robert Koch

(3) Louise Pasteur

(4) Ronald Ross

(23)
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71. . Match the following : 71.

A Malaria P. Bone marrow

B.  Filaria Q. Brain

C.  Encephalitis R.  Blood cells

D. Leukaemia S.  Lymph nodes

(1) AR, BS, CQ, DP

(2) AS,BP,CR,DQ

(3) AQ,BS, CR, DP

(4) AQ, BR, CS, DP

72.

72.

73.

4.

Which of the following crops is generally
cultivated by transplanting seedlings ?

(1) Maize

(2) Carrot
(3) Onion
(4) Soyabean

Which of the following is associated with
Diabetes Mellitus ?

(1) High sugar level and high insulin level

in blood

(2)  High sugar level and low insulin level in
blood

(3)  Low sugar level and high insulin level in
blood

(4)  Low sugat level and low insulin ievel in
blood

A diode is used for

(1) Changing positive charge to negative
(2)  Electrolysis
(3) Converting AC into DC

(4)  Generating electricity

73.

74,

$08T°AD 2 Sohod :

A OTB0I® P s &‘Dg

B. pJ0air = Q. G

C. QDDTBD R. 64 Lewen

D. en8asr 8. Dod Hociew (S&D)
(1) AR, BS, CQ, DP

(2) AS,BP, CR,DQ

(3) AQ,BS, CR, DP

(4) AQ, BR, CS, DP

So& Dot DA grdeorr
redo SaNe ooardd ?

(1) stbé“él
2) s‘;so_es

3 &b

4 arddS

S06S" 6 dorded 00D

(B0¢0r0) £ 202050VVO ?

1) OgoS’ o 5,0, WOS RIS
g“o.n

(2) O%oeS® s 8,0, BED YOS
.Ebo.u

(3) asocﬁ‘ SO BE) 0, WO FR0YDD

5*00.)
(4) dgoe‘? asaba 956, SD
'amDE)S .gvom

EA3ré 20 A3 &DAPAY D

1) S s 3.)6356 0 erd) Sore
woawbé

(2) Dmﬁasét.’a_ea |

3) AC :)ca:.55 & DC DS
Ardyco E%0

@ DRFBISS %0
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75'

76.

77.

78.

Which of the following is used as a triggerin a
nuclear bomb ?

(1) Krytron

(2) MOSFET

(3)  Solid State Relay

(4) Solenoid

Which of the following enzyme found in tears
destroys bacteria ?

(1) Amylase
(2) Urease
(8) Lysosome

(4) Glycerine

In eye donation, which part of the eye of the
donor is utilized ?

(1) Iris

(2) Lens
(3) Retina
(4) Cornea

Washing soap produces a scum with hard
water and not much foam because the hard
water contains

(1) dissolved inorganic salts
(2) chalk and sulphur
(3) organic matter

(4) suspended particles

(25)

75.

76.

1.

78.

wr  erosd & AID &b
GHABFAIFED ?

1) 8&r

(2) MOSFET (3°0e5)

3) D& 5 88

3

4) VOzroné

_sblvges‘:a D oZ oo B0
BR0od ?

1) dTH

(2) o308cHSE

3) IVED
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B o6t $6: 2o &S S0d DTG0
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Read the following sentences and answer the
questions (79 - 82) below :

A team of five members is to be formed from five
boys Pradip, Quddus, Rajesh, Samir and Tony and
four girls Anusha, Bhagya, Chinmayi and Durga.
The conditions are as follows : Pradip and Samir
have to be together. Quddus cannot remain with
Bhagya or Chinmayi. Rajesh and Anusha have to be
together. Tony cannot remain with Anusha or
Durga.

Answer the following questions :

79. If Quddus is one of the members, who are the
other members of the team ?

(1)  Anusha, Pradip, Rajesh, Samir

(2)  Anusha, Durga, Rajesh, Samir

(3) Bhagya, Chinmayi, Pradip, Tony

(4)  Anusha, Durga, Rajesh, Tony

If three members of the team are girls, then
the team would be

(1)  Anusha, Bhagya,
Tony
Anusha,
Samir
Bhagya,
Samir

Anusha,
Rajesh

Chinmayi, Rajesh,

(2) Chinmayi, Durga, Rajesh,

(3) Chinmayi, Durga, Pradip,

(4) Bhagya, Chinmayi, Durga,

81. If Anusha is one member of the team and all
others are boys, then the four boys would be
(1) Quddus, Rajesh, Samir, Tony

(2)  Pradip, Quddus, Rajesh, Samir

(3) Pradip, Rajesh, Samir, Tony

(4)  Pradip, Quddus, Samir, Tony

82. If two members of the team are girls, then
which of the following teams is not possible ?
(D

(2)

Bhagya, Chinmayi, Pradip, Samir, Tony
Anusha, Pradip,
Samir

Anusha, Bhagya, Pradip, Rajesh, Samir
Chinmayi, Durga, Pradip, Rajesh, Samir

Chinmayi, Rajesh,

(3)
(4)

(26)

(B0 arEsivei S8, el Bocs €, (DYoL
(79 - 82) zaravev rHOoIod

00D, ag>d, Tod% , L6 Mook (D
29 RIETNOVRD, RPD, &y, :‘.’)5‘)&&», atie)
299 RSOV Ao DG Rggen E
28 2D SorD3AIrd. dwogden &
DABJ0MT GI7) a0, PAD, D6 DD Gord.
PErD ey, DHon & e Godd.
T°&73, 9Ar) SO Gorrd. 65°)) wiarnd 509
@GS T GG eD.

Sod 0B VL VALFNe TeaOE

9. WG 20 s dZES  aHdD
&J"‘J’;JO Dod ?
(1) edord, OO, T°dF, D6
2)  drd, &g, ToE%, D6
@) arey, DOy, PAD, &°D
@) A, g, ooET, 657D
80. agné‘ S0 eBT oen ol es
280 R GO ?
(1) OR/R, g, DI ow, Tds, &'
(2)  ArR, B, G, T°&F, DS
(3)  arrig, D aW, Bog, KAD, LS
@ R, gy, Dé&an, &g, ToE%
8l 240¢° edrad drew ABRIT o
e.oas'*ao.m? oVB e Jenrddd erendd
DI ?
L) gD, T°ET, DG, €5°D
@) POD, GrR, TrET, D6
@) LAD, ToEE, HN6, &
@ DO, agrd, DG, E5°D
82. 2¢e’ VGO AT e &od W)Y

00 2° D6 Fejo s ?

1 e,:e?‘izg, D a0, HAD, LM, %D
2 edrd, A on, PAD, toEs, D6
@) AR, W, POD, TEF, L6
@) QYow, f, YA, T°EF, PDE
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%Q

85.

Which of the following items is recently
registered as a geographical indication from
Andhra Pradesh ? .

(1) Bangenapalli Mango
(2) Bandaru Laddu
(3) Tapeswaram Kaja

(4) Udayagiri Wooden Cutlery

Out of the following, which parameter is given
higher ranking weight by the National

- Institutional Ranking Framework of MHRD

for awarding overall rank to educational
institutions ?

(1) Graduation outcomes
(2) Perception
(38) Research and professional practice

(4) Outreach and inclusivity -

The recent order of the Union Home Ministry

on sharing of assets of APSCHE specifies

that :

(1) Assets and liabilities are to shared in
52 : 48 ratio

(2) A.ssets belong to the State of their
location but cash deposits/balances to be
shared in 52 : 48 ratio

(3) Assets belong to the State of their
location but cash deposits/balances to be
shared in equal ratio

(4) All assets belong to the State of

Telangana

(27)

& $00 TOS° o LBT ok s

FEOE wrddo e ddrdd

SH0) O ? -

(1) 20000 St

(2) el ug,.)

(3) BPOICHL 5o ;

(1) aoadno BE), sud (Fad vy P
TG D) '

Bog 0D DI VDB oV
TR T fDuvDew SR rdab dovy
;bo‘rgv w&oéoﬁ 55?5:)";3 (NIRF), 2T°g
20ROV TG0 BN, & 300
THS O DoArRANSD  (Fowgs)
D) D FEEOFO0 APV O ?

1) DY BES OB

(2) €9

(3 DOTEDH H0OOsn I DOV DI

BBV
(4)  eriRy gy VOOID Sy

S0 (i@ oBdy T @ddv =8

B0 wB$a0s’ wog pi% &d) & Do

S00¢®  dws); eSO & Sod

DAV DFRLoDITH DE T B ?

(1) esoen B0 @Dy 52:48
D3y QeS" Boded So3rd

(2 e D TROWNS &S o
P8 Bodoerow, 2R A
.Dé’sw/a?wv&b adO0D  52:48
3&3!}6‘ 0263 o3

3) wRoew O TROWS ol e
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:)éa‘sw/arwvesﬁa | 20eD
DATDHNT Vo3 Bosrd
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86.

87.

88.

89,

' 1in the world ?

* spacewalks by a woman in space ?

Who is the other Indian apart from Prime
Minister Narendra Modi to find a place in the
TIME 2017 list of 100 most influential people

(D
(2)
(3)
(4)

Vijay Shekhar Sharma
Mukesh Ambani
Sania Mirza

Sunita Narain

As per World Happiness Report, 2017 of UNO,
what is the rank of India in the Global
Happiness Rankings ?

1) 120

(2) 121

(8) 122

(4) 123

What is the name of the freight train that
made its first journey from China to London in
January, 2017 ?

(1)  The Silk Train -
(2) The Western

(3) The China Wind
(4) The East Wind

Which astronaut holds the record for most

(D
(2)
3)
(4)

Peggy Whitson
Sunita Williams
Svetlana Savitskaya
Sally Ride

The Golden Jubilee year of which important
rice variety, that saved many regions from
famine, was celebrated in November, 2016 ?

(1) IR2
(2) IRS8
(3) IR18
(4) IR81

(28)

86.

87.

89.

2017 &° PAB0DD B HHoBHNSD
100 008  ed50d VerHITD dHe
DTS’ 00 Bio ol &) GeS’
DR og A0o@ Jrd =8, ABG (8
D ?

1) Decd 3 36}

2)  JAVBH voerd)

3) FAoir Dge

@) DT ook

DEf ToRf DS B P Wode

ADBE, 2017 Po DI WoSHRD
DRSS’ 0S8 FdAD Jodd ?

1) 120

@ 121

3) 122

4) 123

D Dock wokd & 2dH0, 2017 &°
DAL DOIPEED WID VO Sorer
Sew dog), DG dAD?

1) ), gew

(2) ZJ‘?DQ)

3 B mrd

) Srddy Td

0850 s:avcl QD WoBBEDY Hcigen
DEDS v 858 FBodD
SR QDS ?

1) :JQ DEND

(2) wdoe 30053533

(3) ?o%g‘av D@y ) ol

@ 93k

08 PATOLN EOPHIE SPED D
D0 DS W FSydanen ddows,
2016 &5° BODETY O ?

(1) sesb 2

(2) esb 8

(3) 26 18

(4) esd 81
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91.

92,

98.

94.

Which of the following was included in 2016
by UNESCO in the list of Intangible Cultural
Heritage of Humanity ?

(L
(2)

Sankirtana
Tradition of Vedic Chanting
(3)

Ramlila

(4) Yoga

The book “The Inner Fire” written by Justice
Rohinton F. Nariman is on

(1) Religious wars

(2) Islam

(3)

Zoroastrianism

4) Radical humanism

Which film personality was awarded the
“Centenary Award for Indian Film Personality
of the Year” at the 47% IFFI in 2016 ?

(1) S.P. Balasubramaniam

(2) AR.Rahman

(3)

Ilayaraja

(4)  Yash Chopra

What is the name of the medium altitude long
endurance UAV flown by DRDO in November,

2016 ?
(1) NETRA 201
(2) TAPAS 201
(3) NISHANT 201

(4) AURA 201

(29)

91.

93.

94.

(2)

o:bobﬁ‘& DoRToDd v d RodD
O FoydE  TPERE VoD
DRSS 2016 &° BON0EN, & Fob
TES° B ? ;

(1) DoSgS .

2) DEE\GR DoDEPODID
(3) T der

4)  G3rre

230 Browd 9. TODS NI
‘@ ad)6 PO ©d PSP JQebAw
D3 ?

(1) SOSHEROD CHOGH0D

2 agro
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47 D o esoe:sgéom Sed

DFSyOsw, 2016 & D LS
rodah IUD DY SYEOS Dy
3o :adavbuval“ QEND ?

1) DD, eV LI

2) w.e36. 6::5&5
(3) Yolorer
4) oA :S‘.Q'a

DRDO, S0 2016 &° DO DD
206550 IO FBGB0 B0ad BY Lo
2ME &o) SIS Gird &5
Diorian DA D ?

(1) gr 201
SHD 201
DFcod 201
Zo° 201

@
(4)
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95.

917.

98.

Which doctor got the Dhanvantari Award in
March, 2017 ?

(1) Dr. S. Bhattacharya

. (2) Dr. S.K. Sarin

(3) Dr. D. Nageshwar Reddy

(4) Dr.B.K. Goyal

Which of the following sports personalities
was recently appointed to the Board of Sports
Authority of India 7 -

(1) Pullela Gopichand
(2) Karnam Malleswari
(3) Mukesh Kumar

(4) Gutta Jwala

Which Harvard dropout got an honorary
degree from Harvard University in March,
20177

(1) Bill Gates
(2) Mark Zuckerberg
(3) Larry Ellison

(4) James Murdoch

As per the 2016 report on Global Trafficking
in Persons published by UN Office on Drugs &
Crime, Victims and Traffickers often have

(1) The same ethnic background
(2) Different ethnic backgrounds
(3) Same or different background

(4) Backgrounds which cannot be identified

(30)

95.

97,

98.

.
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99,

100.

101.

(1)

Which Indian shooter won a Gold medal at the
ISSF World Cup Rifle/Pistol/Shotgun held in
New Delhi ?

Amanpreet Singh
(2)  Ankur Mittal
(3) Jitu Rai
(4) Poujq Ghatkar

As per the 4™ National Family Health Survey,
how many females are there in the State of
Andhra Pradesh per 1000 males ?

(1) 1050

(2) 1020

(3) 980

(4) 970

For which of the following reasons was the
FCRA license of Public Health Federation of
India recently cancelled by the Government of
India ?

(1) Misutilization of Government grants

(2) Money laundering activities

(3) Taking bribes from hospitals

(4) Lobbying with parliamentarians

(31)

99.

100.

101.
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102.

103.

104.

105.

What is the percentage of votes polled in the
recent By-elections to the Srinagar Lok Sabha
Constituency ?

(1) 650%
(2) 695%
(3)

(4)

7-05%

7-14%

Who was responsible for the gaffe in
announcing the name of the Best Film at the

2017 Oscar Awards Ceremony ?

(1) The presenters

(2)  The accountancy firm

(3) The Motion Film Academy
(4)  The law firm

“Every Indian is special. Every Indian is a|

VIP.” On which occasion did Prime Minister
Narendra Modi tweeted these words ?

(1) On International Yoga day

(2)  On launching the BHIM App

(3)  During the UP election campaign

(4)  On abolition of red beacons on vehicles

of dignitaries

50 years as Legislator in March, 2017 ?

(1) K.M. Mani

(2) Rishang Keishing

(3) H.A. Halim

(4) Ganapatrao Deshmukh

(32)

102.

103.

104.

105.
Which of the following politicians completed |

D6 S°E % T8 Rdd0 2005
&0 IV S° Teges® Jod w0 Aol
St Daecd ? '

(1) 6-50%
(2) 695%
(3) 705%
4) 714%
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106. Upon reorganization of the State, Andhra

107.

108.

109.

Pradesh had a higher public debt than
Telangana because '

(1) Andhra Pradesh is

Telangana in area

bigger than

(2) Andhra Pradesh had more assets and
hence more debt

(3) Population ratio was the sole factor for
distribution of debt

(4) Union Government decided that Andhra
Pradesh has to bear more debt

What is the amount of special assistance
provided by the Central Government to
Andhra Pradesh in 2016 — 17 ?

(1) ¥ 4,05804Cr
(2) ¥ 1,976:50Cr
(3) ¥ 1,176:50 Cr
(4) ¥ 2,081:54Cr

As per Andhra Pradesh retail trade policy
2015 — 20, how many additional employment
opportunities would be created in the retail
sector by 2020 ?

(1) 5000
(2) 10000
(3) 15000

(4) 20000

What was the percentage of debt outstanding
to GSDP of Andhra Pradesh in 2014 — 15 after
reorganization of the State of Andhra
Pradesh ? '

(1) 2819
(2) 2891
(3) 29-36
(4) 2963

(33)

106.
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110. Determine the mean, median and modal

values for the set : 3, 8, 10, 7, 5, 14, 2, 9, 8,

() 7-33,5,8
(2) 735,88
3 735,7,8
(4 733,88

111.

112,

The following table of grouped data represents
the weight (in kgs) of 100 articles :

Class - Frequency
Weight (in kgs) (Number)
3-5 8
5-T 25
Fsifirs 7 45
9-11 18
11-13 4

Calculate the mean weight for an article.

(1) T76kg
(2 77kg
@) 78kg

(4) 79kg

If COFFEE is 3, 15, 6, 6, 5, 5, what is MILK ?

(1) 13,9, 12, 11

(2) 13,10,12, 11
3) 14,10, 13, 12

4 14,9,12,11

(34)

110.

111.

112,

VOLED DO DAT OO ados)
Qfe, S0g§ (BS, erTVFEDD a3os);
DeDVA (bQocSos.  Roary
R0TroLSW : 3, 8, 10,7, 5,14, 2,9, 8.

1) 7883,5,8
(2 1785,8,8
(3) 1735,7,8
(4) 17-33,8,8

So6 RIWAD VPSS LrGRAD
Sgromren 100 DY D) (8¢S
rawvs’) BBk Sy o :

(82 o) | (sg00 vowy)
" 3-5 8
5-7 25
7-9 45
9-11 18
11-13 4

DR HOIW0D, 28 JRop ),

:.me.n L) Do &g8) 0t50c. ?

(1) 76kg
(2) TTkg
(3) 78kg
(4) T9kg

COFFEE &€ 3, 15, 6, 6, 5, 5 @0o0& MILK
Qo 7

(1) 13,9,12,11
(2) . 13,10,12, 11
(3) 14,10,13,12
(4) 14,9,12,11
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113. When the following shape is folded into a cube,

what is the expected cube ?

X

D

Q0

(1

(S
N

W D D ©

(3)

(4)

(35)

113. & $08 RIWGD 5B 28 DodIW
OTP EDHOS,

&otod 7

X

- —

e DAL der

D

(1)

(2)

(3)

(4)

W D P DO
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114. Find the ijS'mé number in the diagram given | 114, §o¢$ @;,5&&;{, 23835905e5° Q?lém 3¢
below. : S @ [~

GOoEHLDD Eboa:js&a QoS0 ?

9 8 7 8
9 8 7 8
4 40
4 40
4 4 2 8
4 4 2 8
3 3
3 3
?
?
8 9 :
8 9
(1) 4 1) 4
(2) 3 @ 3
8) 2 @ 2
4 1
W 4) 1

115. Find the next number in the sequence|y1s, Q;jsw&;{; 3936‘ DT m%m

‘) ’
e o b E : hBocSod. $3 : 1,2,6,12,36,72,7
(1) 108 ’ ' 1) 108
(2) 144 @ 144
(3) 156 ‘ (3) 156
(4) 216 (4) 216
116- If (Sedativel iS to :Pain!’ :Solace! iS tD ? . 118. ‘Se&aﬁve’, ‘Pain, é GQJJa ‘Sﬂlaceg aaé ?
(1) Kill (1) Kill -
(2) Grief o (2) Grief
(3) Hurt (3) Hurt

(4) Irritation (4) [Irritation
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Read the following sentences and answer the
questions (117 - 120) below :

The following diagram shows the growth of height
in centimeters of bean plants with application of
fertilizer after a month. Observe the diagram and

answer the questions.

Growth of Height in cm of bean plants with
fertilizer application for a month

25

21

. 20 17

1

" 11 12

10

7
5
Bio-Fertilizer ~ DAP Super Urea  No Fertilizer
Phosphate

117, Could it be safely concluded that for the

growth of the bean plant, application of
fertilizer is always beneficial ?

(1) Yes

(2) No

(3) Maybe

(4) Data is insufficient

118. What is the percentage of increase in growth
of the bean plant with the application of
bio-fertilizer compared to the plant with no

fertilizer application ?

(1) 25%
(2) 50%
(3) 60%
(4) 75%

(37)

(808 R Tnei SO, e ol &S, (BHOLH
(117 - 120) 235020 DYoo :

$06S ADEICD Tar> DBIW. e J JEPe
TAD  Shrd Dy AHo g
AMDAV  ArDWeB.  Tar DBV
£0390d), 0¥ L eV Vool

28 Do JHen TED BTS D&y > Y ©
ES® Asorrse (Roed Doerss®)

25
20
15
10

5

0

21

17

12

B35 Aoy ADL Ardb  oLrtolr 9 20D

ﬁ“abes Fore

117. rz)é)bm QE),  AMDHEVD, APV
ol Pu b DI AT vgwoi}s:n) 29:)
SAdAD .?.);::Doéz:va‘mn“ esané“mbw*’a ?

(1) @D

(2) B¢

(3) VPO

(4)  DATFTEH VOO T

118. &5 0P FED DD :m;szjé‘
MG, D WP TED Y, Kot
Dodh Foeho DSJZIE:) &od 7

(1) 25%
(2) 50%
(3) 60%
(4) T75%
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119.

120.

Could the growth of the bean plant be the

highest if Urea and Super phosphate are

applied together ?
(1)  Yes

"(2) No
(3) Maybe

(4) Data is insufficient

Could a conclusion be safely drawn that
certain types of fertilizers may not be suitable

for bean plants ?

(1) Yes
(2) No
(3) Maybe

(4) Data is insufficient

(38)

[A]

119. ad0Boir 0 PFEH6 sf)“tohes &0

DVIPS, DA cd  DwE), D,
QMG esz)le'fws::"l :)s%:mv
&Gotor ?
1) €9
(2) B

(3) QQDQ_)OG‘.:J@:)

(4) + RVAFTEAD VOO G

120. :Z)éobci) g 0D §"£)3_ 85P0 DD

RVODEDD 3‘«1)30553‘&‘11)!1" SR

OE DTN ?

(1) Y

(2) B

(3)  RONRYOLDEON

(4)  RATECE VOO T
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| 121.

122,

123.

)

124,

(1)

Which of the following was mostly used to
facilitate long distance communication by the
inhabitants of Harappan Civilization ?

(1) Writing on palm leaves

(2) Stone and rock tablets

(3) Pigeons and parrots

(4) Seals and sealings

The earliest inscriptions found in India were
written in

(1) Sanskrit in Brahmi seript

(2)
(3)
(4)

Prakrit in Brahmi script
Tamil in Kharosthi seript
Pali in Kharosthi script

Match the following travellers with their
countries of origin :

A. Al-Biruni I. Afghanistan

B. Ibn Battuta II. Turkey

C. Mahmud Wali Balkhi III. Morocco

D. Seydi Ali Reis IV. Uzbekistan
A B C D

1 Iv 111 I II

(2) III v II I
III v I II

@ v oum I m

Which system of transport was often used by
the Delhi Sultanate to transport fruits of
Khorasan to India ?

" Foot — post systeﬁ:l
(2)
(3)
(4

Horse — post system
Camel caravan

Transport by pilgrims

(39)

121.

122.

123.

124.

300TS’ O By THOSS SRR
AT FoTPODH QDAL G
BEDOHEPAS L) O SDAATHODDD ?

(1) ¥ DEre TrSeD

(2) TS Dwsen
(3)  rHoren Léain Dersen
(4)  SHSe VOOIL e

68 S° VDOND VA YT FROTeW
D e’ groberd eyow ?

(1) grery, D18 &rdd Ddow) oS
@  griv) O1E &rdd FESos
3) BR BOE &rdd HVoeS
@  pBP B1E &rdd JePeS°

206 DD argdesy T Sved
2 Sodod :

A. 0S5-8B6rd L QAP

B. 2e5) exder L. &) '

C.aviryb sded L dwoE

D. 2ooiy6 ed 65 IV. &3y83°S
A B C D

O IV I I 1

@ I IV I 1

@ Im IV I i}

4) IV m . I 11

ForD  Aod  Dogad  rEd D
SoDTrHmrdd A dorgy O ST
S§H0 BEBT GDHATFAODTE ?

(1) ST SFTr SEDD
(2) Ogre darer SIS

(8) 2,080 SO

4)  SgairgHo oo
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125. Which of the following Sufi saints was known

126.

127.

as Garib Nawaz ?

(1) Sheikh Nizamuddin Auliya

(2) Khwaja Moinuddin Chisti

(3) Hazrat Nasiruddin Chirag-i-Delhi

(4) Khwaja Qutbuddin Bakhtiyar Kaki

What was the practice adopted by the
Vijayanagar Kings to protect the inhabitants
within a fortified area from starvation due to
sieges by enemy armies ?

(1) Large granaries were built within the

fortified area to store grains

(2)

Secret pathways were maintained to
transport groceries into fortified areas

(3) Large agricultural  tracts  were

incorporated within the fortified area

(4) The forts were built on hills to prevent

siege by the enemy

Arrange the names of the following freedom
fighters in ascending order of the period of the
rebellion by them :

j B Vasudev Balwant Phadke
II. Khudiram Bose

III. Alluri Sitarama Raju
IV. Kanhu Murmu

(1) IIIII0, IV

(2) I IV,III

(3) ILIV,IILI

(4) IV,LIILII

(40)

1256.

126.

127.

Socs DEYX) WX DRPHROY’ DO
(5065 DS e9dT S ?

as awmQS e dadre

PP S0V DY

28 DDA dorh-a-&f

PG HSLLVAS FFaIrd 58

(1)
(2)
(3)
(4)

3G dov  dwpd Dy Sl paew
e300 38 "aeo')oé DELOT® BP0

DRODHOG  Toren  @rfden
DLATE ?
1 oS’ DG RPFTTVRD

bb&oéaﬂm

S8 orargd) S6dbocod
5:5:??05 BT DTN
WRVLOJTE

B0e’he arrod® 65 dygods®
DIOIO Dot FPBVRD &0l
Do fDU";)é.D BT

303 ARG odHore FLv
Sottop S8

(2)
(3)

(4)

Socs DE)R) FgBods DACATEVI
T°0 DPD SPUrOD VRO BB T
EDos® Deyod 1

L SPR0BD 0ogd DE)

n awboed &5°0

I e9erd DT T Toa

IV. 8ao a:x)d.)é’
o

(1) 1,IL I, IV

(2) ILIV,1II

(3) 1L IV,IILI

(4) IV, LIILII
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128.

129.

130.

Haﬁng failed to control the Paharias, the
British invited the following to cultivate the
land in the Rajmahal Hills :

(1) Santhals

(2) Zamindars

(3) British planters

(4) Kols

Which of the following is one of the rea,suné for
Mahatma Gandhi to use salt as a symbol of
protest ?

(1) Salt was easy to make

(2) Dandi sea shore which was full of salt

was nearer to his Ashram

(3) Salt was not given due importance by
the British

(4) The government was depriving Indians
of even nature made salt by wanton
destruction of salt

What is the title of the book published in 1958
containing the edited collection of letters
written to and by Pandit Jawaharlal Nehru ?
(1) Critical thoughts and reflections

(2) A bunch of old letters

(3) Iand Mahatma — A collection of letters

(4) In the eyes of the World

(41)

128.

129.

130.

T Totes IS LY ercospBaicioes’
DPOD DB Ty TE S
Eocig® H50aw0 SROHJ0EILH D6
e.e::‘sz)oa“c.b g

(1) Hozrd ew

2 2omd en

3) DA Feobadrdoen

4 BeSen

1BodS® DA 20T, TPl Xy
QBRSO e300 ore :3'{0353‘6:1
oo’ 288 ?

(1) 6:‘)33 Sodrdd doddio owo

2) é“% e B €508 ol o
0D 8BITIS GHOT God

3) GO QO Ty I FTrAYS
@;55651)

@) DBQ Ty &Ry O G0
Wodcio DB DRV NGB
?aga‘mn" ST &Ry Sree
<6V 008

20075’ DB, . 19586°  HIBSD
VoGd D6 oS T T,
DHBan  esaLIDH  grabedd dpe
Poseo 7 '

(1) S88S oredy ok BPEDY

2) o eod ud &E Sedy

3) D ok HBFEry — J ETES D
geby

@ A & DO WD & J6Y
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131.

132.

133.

134.

Which of the following is one of the salient
features of the Lucknow Pact, 1916 ?

(1) The Congress and Muslim League would
share power in Legislative Councils

(2) The Congress accepted the system of
separate electorates based on religion

(83) The Congress and Muslim League would
fight for complete independence

(4) A working committee was established by
the Congress to run day to day affairs

Which of the following evidences support the
Big Bang Theory on the origin of the
Universe ?

(1) Expansion of the Universe
(2) Rotation of planets
(3) Explosion of stars even today

(4) Maintenance of steady state by the
Universe

Which of the following is a direct source of
information about the interior of the Earth ?

(1) Study of seismic activity
(2)  Gravity anomaly
(3) Surface rock from mining areas

(4) Magnetic surveys

Till, moraine and  boulder
depositional land forms due to

clay are

(1) surface water activity

(2) underground water activity
(3) aerial activity

(4) glacial activity

(42)

131.

132.

133.

134.

200" A6 vé‘g_ 20y08BW, 1916

g, By eoarees” 2,88 ?

(1) TRPBD SIS &’ 57080, Ao
DA e OSGo FowWE L

(2) SoBR o egrdor & &
Qodras ;‘)g"e.) aigagm
29008000

(3) Nor :3"560@ o §%0 5000 ,
23000 6 e &0 WaLto

4) Ber o006 seo(gerdrosd _
FAoBocIDH $°0aD HO)0h e
DU"D&D

0O’ Dégo  drerd) DB

56 :)ﬂ‘be::: i)g"owx)l :bmgoa

egrdo b o '

(1) DB DRGea

(2) 5% Fodomdw

(3) RO T DEZrw ::)sf)‘heax:o
RDotto '

3,
@ Do VOB 33S° GoceBD

2067JS" O Fr SO TFoo
(0o  pEgEDT  DOrTCo Q3N
8580/ DAIPEIBN 7

(1) orSoDd ::’JQSU wqﬁscﬁ)«ﬁo

(2) ﬁ)(i)U”SSQE’Q &'.)5650503533 (anomaly)
3 fo0s” aHosL T,

(4)  eahI7) 08 DB

BS, 2080 en 8o FPS S8
DEren Re° B EoPow

(1) G080 A S6fR Db

(2) wﬁda ED ) t:'JCS?SU PV

(3) ess3 cﬁdﬁu PV

(@) TPIPR ITPV BER DR
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135.

136.

187.

138.

Out of the below, identify the process which is
not part of the hydrological cycle.

(1)
(2)
(3)
(4)

Evaporation
Precipitation
Hydration

Condensation

Which is the largest tributary of the Godavari
in terms of coverage of drainage area ?

(1) Sabaﬁ
(2) Pranhita
(3)

(4)

Indravati

Manjira

As per reliable estimates, which of the
following locations in India has the largest
shale gas reserves compared to others ?

1
(2)
(3)
(4)

Cambay Basin
Krishna-Godavari Basin
Cauvery Basin

Ganga-Brahmaputra Basin

Under the Hydrocarbon Exploration Licensing
Policy (HELP), the revenue to the Government

of India accrues through
(1)
(2)
(3)
(4)

lease rent
biddable revenue sharing contract
production sharing contract

fixed percentage of price realized

(43)

135.

136.

137.

138.

300°JS° 20806 SyhoeS’
(rEeor2ss 28S) arto = H3aL
6.

(1) e sPdGo
@ wdbo (DHHERS)
(3) 58860 (EAD)

(4) Qoo (éoc‘.:ﬁ;)‘a’15 )

VOIS Fod Do PSP Horod
&3S’ D6 g6 ?

(1) =220

(2) Deeardd
(3) RoErdd
@) Doodoe

DR o Ps*Go, 68 &
doc DEVD) D pETVS 1S R
QiEFren Lo PBTL ST°) I O™

&Iryaw ?

(1) S°o8 80

2) Ep-Horsd 829

(3) S0 8D _
@) Horr-gir) DG B2

Q"gs“dJS ?935‘{.:[5'3 Q?Q-S:) QTR0 |
(HELP) Sodd 268 Dz0er(d8 esmeadio
B 00D diod ?

0% ol

DVoDOAEAD (biddable) e3TPORYD
VOVERD) aubaodm

(1)
(2)

(3)
(4)

&G DoDEY wdyodo
2DoDD 56eS R0 7o
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139.

140.

141.

142,

In which of the following places of Andhra
Pradesh are Karst topography features seen ?

(1
(2)
(3)
(4)

Bojjannakonda Caves
Undavalli Caves
Belum Caves

Erravaram Caves

Which of the following could be the most
important factor in decline of slate industry in
Markapur ?

(1)
(2)

Non availability of slate in the mines

Non availability of labour for quarrying
3)
(4)

Government policies restricting mining

Change in user preferences

In which part of Andhra Pradesh are a major

portion of Uranimum reserves located ?
(1) Kadapa Basin
(2)  Nellore Basin
(3) Krishna Basin

(4) Gooty Basin

Which of the following is net a criterion for
acquiring citizenship of India, subject to other
conditions ?

(1) Naturalization
(2)

3)

Birth
Registration

(4) Ethnic Identity

(44 )

139.

140.

141.

142,

o PAT &' ot DO Jromrers’
959 (Karst) RerHO 0LEred )06
&ddIJrow ?

85"z ot (iren

0tidd (e

EeaD (e

AgSGo Hoien

(1)
@)
3)
(4)
808 DE) DTS 6 AroRrd &
Hosy DO LedoStrAS B0y
s°6Ee0 ?

1 a0 Do Jedfado

(00 SIS Erdew
[STATIRI= S FeTatel

(3) (e BOER) DS R
QIS drAren

BoBalont JofatetT3Y @Q“QM%‘U?S‘

(1)
(2)

(4)

o DB% S D FossosS” alnBIobo
.Dusw VRSP &) 0N ?

(1) S&D 800

@) derd 80

3) S 8IS

@ O B82S

o8 & o) Tosed, a6
QeoedoH S'wd, $087S° HGoSIA
6 ?

Y k- X-lolx]

WS

33 B Sk

2 DODD o)

(1)
(2)
(3)
(4)
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143.

144.

145.

146.

The Constituent Assembly was composed
roughly on the lines suggested by

(1) Mountbatten

(2) Cripps Mission

(3) Cabinet Mission

(4) India Independence Act

Which of the following may be a violation of
fundamental rights ?

(1) Banning of a book
(2) Not paying minimum wages
(3) Prohibition of secessionist activities

(4) Not allowing loﬁdspeakers in a religious
procession

In which election in India was VVPAT used
for the first time on experimental basis ?

(1) By poll in Nagaland, 2013

(2) Lok Sabha Elections, 2014

(3) Assembly Elections, Goa, 2017
(4) By poll in Madhya Pradesh, 2017

Which of the following is a “pocket veto” power
in the Indian context ?

(1) Speaker of Lok Sabha not allowing
presentation of a bill

(2) President keeping a bill pending with
him, without any time limit and without
approving

(3)  Prime Minister removing ministers from
his Cabinet without any reason

(4) Rajya Sabha vetoing the provisions of a
bill approved by Lok Sabha

(45)

143.

144,

145.

146.

oeafort R Srddy NoFob Jo b DI FoTo)
RO Argane’ Erifodomrd ?

(1) &30t ertdn

(2) 55:3 DD

(3) OIS WNS

(4) oS .3-5603:35 5é0

206S" A6 FEWE DY

€000 SPOTIND ?

(1) 8 YIRS ddoddcio

2) & Deddo BBocsedPHco

(3) DTYEOIG TEfErT O
Nadocstio

(4) SO BNODS” & VY86 w
QRdoticio

ToS S D AVEG’ Do
QAFTERE  DGAS®  VVPAT D
&OBPAOTEED ?

(1) 2013 Trrerol &' &DIV) §°

(2) 2014 &°6 28 IV &¢°

(3 2017 B 00 V) &’

(4) 2017 D065 BT &' GDIV) &

6 BTS Dowodod) ‘a5 DS

B5°60 S0BTIS” B ?

(1) 28 D PDIDEID(LE &6
223 086 wEEdco

(2) S*® HDOAB Tt TPRNB 2.8
DO SATQOBLE BIDGD
&ocofdcto

(3) @ SPOf0 THOE® PP of B
5P o) o
Sofodco

) &8 28 sArGDD DS’
OTVRD. T°2[RH TS0
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_ (46)

147. The mission of the Government of India for |47,

_electronic delivery of all Government services

is known as

(1) e-Biz

(2) e-Cloud

(8) e-Kranti

(4) e-Jagati

148.

148.

(D

The one stop e-market place established by
the Government of India for procurement of

goods and services by  government
organizations and PSUs is named as
e-Procure .
(2) e-Biz
3) GeM
(4) GeP

149. As per the data available in the National

150.

(1)

Judicial Data Grid in April, 2017, what is the
approximate percentage of cases in Indian
Courts pending for more than two years ?

(1) 45%
(2) 55%
(3) 656%
(4) T75%

In which of the following issues did the
Supreme Court invoke Article 142 of the
Constitution to issue directions in a judgment
in a case in 2016 ?

Constitutional validity of Defamation

Act

(2) Regulatory mechanism for legal
profession.

(3) Right of disabled people to live with
dignity

(4) Ban on licenses to liquor shops near

State and National Highways

149.

150,

0) VIS Ddw wgvbé .:ga
oo e0bouSErOS A1 080
Dw_)e.n DD WBR?

1 2-DS

@ 2ge

(3) @-gro8d

(4) =-203

Qmés ‘(oo‘cbw Peblalents) ge:ués Gotl
RoRen aassb I0DD  dPapew
0005w dDIwdn Faoffen Sobeedd
208 VIS DTYEDBDD R-°T) S
D S ?

(1 2-Terd

2 D&

3) B (GeM)

@) BD (GeP)

230D m‘gcﬁ)éém vArers pE &
VS, 2017 SV DAFTEHD PS*Go
5oty a°5ojag°a°oeﬁ‘ BotiwySots
ey de Dodoh & &) Swe Tdo
AT Dotd ?

(1) 45%
(2) b55%
(3) 65%
(4) 75%

2016 &' 208 S D DHoirdS
20220D00)® &roes® RIEAOS0) &

_ a"!go‘.bg"xxan oeejotio S°D whHESe0

142 OS5 o esdTen 03od ?

(1) DEOYIOPo DRI T2fols
Weneren

TJODT®E DG D Aoioges O§O
BTgorben FESHGET 2Jod
::»s;.z,

TR, FOOD TR DED
280 ITEPOLD TVDy L GG

(2)
(3)

(4)



GS/EP/100 (47) :

SPACE FOR ROUGH WORK




GS/EP/100

(48)

SPACE FOR ROUGH WORK



